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0000a b, ¢c0000,0000000000, ged(e, b)) =100000000
ar+by=c00000000000.000000,00000000000000C0
000000000.000,3z+5y=7000000000000000000. 00
000,000000000000000000000000000000000000
oo.

ooooooooooog.

00 2.4, 6020000000, ged(a, b)=1000.00,c0000000,atc bic
000.0000,00000ar+by=c000000 (z, y) 00000000 O

c=ab—(a+0)
gog.
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00 4.4, b, c0 ged(a, b, )= 10000000000, d00000000. OO,
0<i<a—10000,
by + cz =i (mod a)

00000000000,y +c¢:00000000000 (y, 2)=(y, 2)000.00
0,00 A,B0O

A:={(y;, z)]0<i<a-—1},
B :={by; + cz | (v, z) € A}

0000,B00000by+cx000.0000,000 ax+by+cz=d00000
000 (z, y, 2)00000000d0

d=—a+by; + cz
ooo.
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